
UP CONSTABLE ST-24 
Q-94 The   question   is   based   on   the following   alphabet series.

प्रश्न निम्िनिनित वर्णमािा श्रृंििा पर आधाररत है।

NOPQR FGHIJKLMZ S TUVWXY AB CDE 

Which letter is exactly between the tenth letter from the left and   the fifth  

letter from the right?

बाएृं से दसवें अक्षर और दाएृं से पाृंचवें अक्षर के ठीक बीच में क ि सा अक्षर है?

(A) O 

(B) P 

(C) Q 

(D) T



UP CONSTABLE ST-30 

Q.1. Select the related word from the given alternatives.

नदए गए नवकल्पों में से सृंबृंनधत शब्द का चयि करें।

Ocean: Water : : Glacier : ?/ महासागर: जि:: नहमिद: ?

(A) Ice 

(B) Water 

(C) Pole 

(D) Heat

(A) बर्ण  

(B) पािी

(C) धु्रव 

(D) गमी
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Q.2. Select  the related  figure from the  given responses..

नदए गए उत्तरों में से सृंबृंनधत आकर नत का चयि करें।
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Q.3. What will be the water image of the question figure?

प्रश्न आकर नत का जि प्रनतनबम्ब क्या होगा?

Question Figure S N A C K
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Q.4. Which one set of letters when sequentially 

placed at the gaps in given letter series shall 

complete it.

अक्षरों का क ि-सा समूह दी गई अक्षर श्रृंििा में ररक्त

स्थािों पर क्रनमक रूप से रिे जािे पर इसे पूरा करेगा।

n _ t _ s _ _ s _ n _ t

(A) sntnt s 

(B) nt s t tn

(C) t t snt s 

(D) ns tns t
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Q.5. In a row of girls, Pooja is7th from the left and Vandana who 

is the 9th from the right. They interchange their seats then Pooja 

becomes 11th from the left. How many girls are there in the row?

िड़नकयों की एक पृंनक्त में, पूजा बायीं ओर से 7वीं है और वृंदिा दायीं ओर से

9वीं है। वे अपिी सीटें आपस में बदि िेते हैं, नर्र पूजा बाई ृं ओर से 11वीं हो 

जाती है। पृंनक्त में नकतिी िड़नकयााँ हैं?

(A)16 

(B)18 

(C)20 

(D)19
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Q.6. If POSTER is coded as   592314and DARK is 

coded as 8647, then how will STROKE be coded?

यनद POSTER को 592314 के रूप में कोनित नकया गया है 

और DARK को 8647 के रूप में कोनित नकया गया है, तो 

STROKE को कैसे कोनित नकया जाएगा?

(A)234917 

(B)234971 

(C)493287 

(D)329417
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Q.7 . In a certain code language 'Ki Su Mo' means 'heart has broken', 'Ci 

Cu' means 'enjoy sight' and’ Ki Ci Ho' means 'enjoy heart attack'.. How 

is 'sight' written in that code language?

(A) Ci 

(B) Cu 

(C) Either Ci or Cu 

(D) Ki
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Q.8. Two positions of a cube are given below. Study 

each position and answer the question given  below.

एक घि की दो नस्थनतयााँ िीचे दी गई हैं। प्रत्येक नस्थनत का 

अध्ययि करें और िीचे नदए गए प्रश्न का उत्तर दें।
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Q.9. A is facing towards North and then he turns left and walks 

some km. He then turns right and walks some km. Again he turns 

left and walks some km. Now he is walking in which direction?

A का मुि उत्तर की ओर है और नर्र वह बाई ृं ओर मुड़ता है और कुछ नकमी चिता 

है। नर्र वह दाएाँ मुड़ता है और कुछ नकमी चिता है। वह नर्र से बायीं ओर मुड़ता है 

और कुछ नकमी चिता है। अब वह नकस नदशा में चि रहा है?

(A) North 

(B) South 

(C) East 

(D) West

MISSION SSC -2024



UP CONSTABLE ST-30 

Q.10. A paper is folded and cut as shown below. 

How will it appear when unfolded?

एक कागज को िीचे नदिाए अिुसार मोड़ा और काटा जाता 

है। िुििे पर यह कैसा नदिाई देगा?
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Q.11. A is the father of X. B is the mother of Y. The sister of X and Z is 

Y. Which of the following statements is definitely not true?

A, X का नपता है। B, Y की मााँ है। X और Z की बहि Y है। निम्िनिनित में से क ि सा 

कथि निनित रूप से सत्य िहीं है?

(A) B is the mother of Z. 

(B) X is the sister of Z. 

(C) Y is the son of A. 

(D) B has one daughter
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Q.12. Aman’s rank is 10th from top and 12th from bottom in a 

row of people. How many people are there in the row?

िोगों की एक पृंनक्त में अमि की रैंक ऊपर से 10वीं और िीचे से 12वीं है। पृंनक्त

में नकतिे व्यनक्त हैं?

(A)21 

(B)22 

(C)15 

(D)18
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Q.13. B is the brother of A, and his only sister is the 

mother of C. D is the maternal grandmother of C. How 

is A  related to D?

B, A का भाई है, और उसकी एकमात्र बहि C की मााँ है। D, C की 

िािी है। A, D से नकस प्रकार सृंबृंनधत है?

(A) Daughter-in-law 

(B) Daughter 

(C) Aunt 

(D) Nephew
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Q.14. Choose the best suitable Venn diagram for the following 

words:

निम्िनिनित शब्दों के निए सबसे उपयुक्त वेि आरेि चुिें:

"Amphibians, Alligator, Tortoise" / "उभयचर, मगरमच्छ, कछुआ"
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Q.15. Find out the set of numbers amongst the four 

set of numbers given in the alternatives which are 

the most similar   to  the numbers given in the 

question. 

नवकल्पों में नदए गए सृंख्याओृं के चार सेटों में से सृंख्याओृं का 

वह सेट ज्ञात कीनजए जो प्रश्न में दी गई सृंख्याओृं के सबसे 

अनधक समाि है।

Given set : (28,44,60) (A) (17,35,53) 

(B) (14,28,41) 

(C) (35,65,83) 

(D) (21,38,57)
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Q.16. Find the next figure for the given series. दी 

गई श्रृंििा के निए अगिा अृंक ज्ञात कीनजए।
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Q.17. In a party there are 160 members. Three-fourth of them are 

men and rest are women. All the members are married except 8 

women. How many married women are there in the part

एक पाटी में 160 सदस्य हैं। उिमें से तीि-च थाई पुरुष हैं और बाकी मनहिाएृं हैं। 

8 मनहिाओृं को छोड़कर सभी सदस्य नववानहत हैं। नहस्से में नकतिी शादीशुदा

मनहिाएृं हैं

(A)8 

(B)30 

(C)10 

(D)32
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Q.18. Vinay said to Rohan, Seema is your maternal aunt and my mother 

is also your maternal aunt and Rekha is my sister then how Rohan is 

related to Rekha?

नविय िे रोहि से कहा, सीमा तुम्हारी मामी है और मेरी मााँ भी तुम्हारी म सी है और रेिा

मेरी बहि है तो रोहि, रेिा से कैसे सृंबृंनधत है?

MISSION SSC -2024



UP CONSTABLE ST-30 

Q19. What is opposite number of 3 ?

3 की नवपरीत सृंख्या क्या है?
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Q 20. Select the missing letter from the given responses.

दी गई प्रनतनक्रयाओृं में से िुप्त अक्षर का चयि करें
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Q.21. Which one set of letters when sequentially 

placed at the gaps in the given letter series shall 

complete it? 

अक्षरों का क ि सा समूह दी गई अक्षर श्रृंििा में ररक्त स्थािों पर 

क्रनमक रूप से रिे जािे पर इसे पूरा करेगा?

w _ e e _ b e _ w b _ _ w _ e e

(A)bweeee

(B)bweeeb

(C) wweeeb

(D)bwebbb
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Q.22. Find out the alternative figure which contains figure (X) 

as its part (rotation is not allowed).

उस वैकनल्पक आकर नत को ज्ञात कीनजए नजसमें आकर नत (X) को उसके भाग 

के रूप में शानमि नकया गया है (घूर्णि की अिुमनत िहीं है)।

(A)1 

(B)2 

(C)3 

(D)4
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Q.23. Select the word which cannot be formed 

from the 

letters of the given word.

उस शब्द का चयि करें जो से िहीं बिाया जा सकतानदए 

गए शब्द के अक्षर.

LEGIBILITY

(A) BILL 

(B) ABILITY 

(C) BIG 

(D) LEG
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Q.24. Select the related word from the given 

alternatives.

नदए गए नवकल्पों में से सृंबृंनधत शब्द का चयि करें।

Key: Lock:: Switch: ?/कुृं जी: िॉक:: नस्वच: ?

(A) Fan 

(B) Electricity 

(C) Om 

(D) Plastic
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Q.25. Select the related number from the 

given alternatives. 

नदए गए नवकल्पों में से सृंबृंनधत सृंख्या का चयि करें।

1137 : 441 :: 4312 : ?

(A)576 

(B)676 

(C)671 

(D)729
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Q.26 Statements: All blue are green. 

Some green are yellow. 

Conclusions: I. Some green are blue. 

II. Some green are not yellow. 

(A) Only conclusion I follows.

(B) Only  conclusion II follows. 

(C) Neither conclusion I nor II follows. 

(D) Both  conclusions I and  II follow.
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Q.27. Arrange the   given words in   the 

Dictionary  order. 

नदए गए शब्दों को शब्दकोश क्रम में व्यवनस्थत करें।

1. First 

2. Frown 

3. Fist 

4. Fast 

5. Floor (A)3,5,2,4,1 

(B)4,1,3,5,2 

(C)2,1,3,5,4 

(D)2,4,1,5,3
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Q.28. Choose the correct mirror image of the given 

figure (X) from amongst the four alternatives.

चार नवकल्पों में से दी गई आकर नत (X) की सही दपणर् छनव चुिें।
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Q.29. Three of the following four are alike in a certain way and 

hence form a group. Which one of the following does not belong 

to the group?

निम्िनिनित चार में से तीि एक निनित तरीके से समाि हैं और इसनिए एक 

समूह बिाते हैं। निम्िनिनित में से क ि सा समूह से सृंबृंनधत िहीं है?

(A) BDGJ 

(B) DGJM 

(C) KNQT 

(D) TWZC 
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Q.30. If in a certain code language, 'SUTFQ' is coded as 19-21-20-6-17 

and ‘GMNSF’ is coded as 7-13-14- 19-6 then how can ‘LREPP’ be 

coded in that code language?

यनद नकसी निनित कोि भाषा में, 'SUTFQ' को 19-21-20-6-17 के रूप में कोनित 

नकया गया है और 'GMNSF' को 7-13-14- 19-6 के रूप में कोनित नकया गया है, 

तो उस कोि भाषा में 'LREPP' को कैसे कोनित नकया जा सकता है? ?

(A)12-18-5-16-16 

(B)11-18-5-16-16 

(C)12-13-5-16-16 

(D)12-18-15-16-16
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Q.31. In a family, B is the father of M and N. B does not have any 

daughter. K is the brother of R. R is the wife of S. A is the 

daughter of S. B is the brother of A and husband of P. How is B 

related to S?

एक पररवार में, B, M और N का नपता है। B की कोई बेटी िहीं है। K, R का 

भाई है। R, S की पत्िी है। A, S की बेटी है। B, A का भाई है और P का पनत 

है। B, S से नकस प्रकार सृंबृंनधत है?
(A) Son-in-law 

(B) Son 

(C) Brother-in-law 

(D) Brother
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Q.32. The height of A and B are equal. C is shorter than A. 

D is shorter than E but taller than B then find  out   who is 

the shortest among them?

A और B की ऊृं चाई बराबर है। C, A से छोटा है। D, E से छोटा है 

िेनकि B से िृंबा है, तो पता िगाएृं नक उिमें से सबसे छोटा क ि है?

(A) D 

(B) C 

(C) E 

(D) B
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Q.33. Three  of the   following   four letter-clusters are alike 

in a certain way and one is different. Pick the odd one out.

निम्िनिनित चार अक्षर-समूहों में से तीि एक निनित तरीके से समाि हैं

और एक नभन्ि है। बेजोड़ को चुिें।

(A) H19K16 

(B) D23G20 

(C) P11S8 

(D) J17M11
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Q.34. Which of the following diagrams indicates 

the best relation between 

निम्िनिनित में से क ि सा आरेि सबसे अच्छे सृंबृंध को

दशाणता है?

ELEPHANT, TIGER and HERBIVORES?

हाथी, बाघ और शाकाहारी?
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Q.35. How many triangles are there in the given figure ?

दी गई आकर नत में नकतिे नत्रभुज हैं?

(A) 10 

(B) 11 

(C) 12 

(D) 14
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THANK YOU
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